Answer Key for Work/Photosynthesis Test Review
Work Multiple Choice Questions

1. The correct answer is D because to lift a box up a certain distance will always take a certain amount of work.  Simple machines do not change the amount work being done; they decrease the amount of force by increasing the distance. There is no work in Situation 2 because the box is not moving.

2. The correct answer is D because the tree is not actually applying a force to object to move it any distance.
3. The correct answer is A because W=Fd.  If the object does not move then the distance is zero.  Any force times zero is going to equal zero work.

4. The correct answer is D because the ramp will increase the distance allowing the second student to use less force.  The two students are still doing the same amount of work.

5. The correct answer is A because an inclined plane reduces the amount of force needed by increasing the distance the object is moving.

Don’t forget to study your Work Worksheet for examples on how to calculate work.

Photosynthesis Fill-in-the-Blank Questions

1. Energy

2. Photosynthesis

3. Food

4. Radiant Energy
5. Carbon dioxide and water

6. Glucose and oxygen

7. Sun

Photosynthesis Multiple Choice Questions
1. The correct answer is B because the plants the use the light from the sun to transform into chemical energy in the glucose they produce.

2. The correct answer is A because plants transform the energy in sunlight into the energy in glucose.

3. The correct answer is C because carbon dioxide and water have the elements needed to produce glucose.

4. The correct answer is A because the chemical energy in glucose is the start of all food chains.

5. The correct answer is B because the plant needs the elements in water to react with carbon dioxide to produce glucose.

